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Act Normal Crash Rang | Rate |C. P

Time | CostID | Time | CostID
L=, 3 175 2 235 Y0 60 *
L= 6 300 4 500 2 100 *
2—4 5 430 4 600 1 150
2-3 7 130 6 230 1 80
3—-6 3 230 3 350 2 X 20 *
4-6 4 600 4 600 0 0
3—6 3 100 2 115 Y 15
6-7 2 72 1 142 re 70 *
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Act. Normal Crash Rang | Rate |C. P
Time| Cost Time| Cost

1-2 4 500 3 750 1 250 =

2-3 4 100 2 300 2 100

2-4 2 200 2 200 0 0

2-5 5 600 4 760 1 160 =

I-6 ] 700 5 830 1 130

4-8 4 200 3 300 1 100

5-7 7 170 5 200 | 2% 0 15 =

6-9 4 200 2 300 (210 S0

7-8 2 50 2 S0 0 0 =

§-9 1 100 1 100 0 0 =
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Act, | Preceded Normal Crash Rang | Rate |C. P
by Time, Cost$ |[Time | Cost$
A | — 8 400 i S00 2 50 = *
B A 10 450 3 610 2 80 =
C A 12 600 7 S00 5 40 =
D B.C 3 200 3 200 0 0
E C 8 350 i 460 2 55 =
F K.D 9 S00 7 S350 2 25 =
G D.E 6 380 4 425 2 22.5 =
H F.G 10 6010 i 810 4 25| 7
K B 7 300 6 315 1 15 =
3780
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Act. Normal Crash Rang | Rate|C. P
Time| Costy | Time| Cost$
1-2 3 175 2 235 1 60 =
23 i 300 4 500 2 100 *
2-4 S 450 4 600 1 150
2-5 7 150 6 230 1 50
3-06 3 250 3 350 2 S0 =
4-6 4 600 4 600 0 0
5-6 3 100 2 115 1 15
6-7 2 72 1 142 1 70 *
2079 2772
Act CostS| T.D.CS| Date/W | Indirect| T.CS
Cost §

——————— ——- 2097 16 2400 4497
3-06 S0 2147 15 2250 4397
1-2 60 2207 14 2100 4307
5-6 ] 15

63 2272 13 1950 4222

3-06 f S0
6-7 70 2342 12 1500 4142
2-3 1 100
2-5| 80 % 330 2672 11 1650 4322
2-4 150
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Act. Normal Crash Rang |Rate|C. P
/D
Timg  Cost Timedg Cost
1-2 14 1120 14 1120 0 0 =
2-3 9 1620 9 1620 0 0 =
2-4 18 1440 16 1760 2 160
2-5 14 1120 13 1300 1 180
3-6 10 1100 9 1170 1 70 =
4-6 8 1280 S 1750 3 156.7
4 -8 12 1200 11 1320 1 120
3-7T 10 S00 8 S60 2 30
5-8 15 1200 12 1440 3 30
6-8 14 1960 i 2400 6 73.3 =
7-8 ] 1500 5 1650 1 150
Act Cost T.D.C | Date/Day | Indirect | T.C
Cost
T I 14040 47 23500 37540
3-6 70 14110 46 23000 37110
6-8
7- 223 14333 45 22500 36833
6-8
4-7 230 14563 44 22000 36563
6-8
2-4 233 14796 43 21500 36296
6-8
2-4
5-7 343 15139 42 21000 36139
6-8
4-8
4-7 460 15599 4] 20500 36099
5-8
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